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Maximum : 100 Marks

Objective type questions.

Answer the following questions by selecting the most appropriate answer from among the options given.

Each question carries 1 mark.

Section I (General English)

1. A Lamp hung from the

(A) Ceiling. (B) Sealing.

(C) Cealing. (D) Zealing.
2. Hegetsa from the Government.

(A) Grand. (B) Grant.

(C) Granting. (D) Grandeur.

3. It appears very likely that

in the afternoon.

(A) It would rain. (B) It will rain.
(C) It should. (D) It mightrain
4. The highest point of achievement.
(A) Peak. (B) Climax.
(C) Zenith. (D) Epitome.
5. Icould not agree him.
(A) To. (B) With.
(C) For. (D) By.
6. Wine is made grapes.
(A) With. (B) Of.
(C) From. (D) By.
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The meeting is ——— Sunday.
(A) At (B) On.
(C) By. (D) From.
None of his friends ————— now living in Hyderabad.
(A) Is. (B) Are.
(C) Has been. (D) Had been.
More then 10 year have now passed ———— I had my first flight.
(A) When. (B) Until.
(C) While. (D) Since
He wore a coat ————— he might not catch cold.
(A) Inspite of. (B) Unless.
(C) As though. (D) In order that.
He would play allow us to play.
(A) Neither ..... nor. (B) Scarcely ..... when.
(C) Both ..... and. (D) So..... that.

Rabbit-Bunny : Kargaroo

(A) Cub. (B) Pup.

(C) Calf. (D) Joey.
Arun ———— abroad next week.

(A) Going. (B) Had gone.

(C) Will be going. (D) Has gone.
Take care ————— you should fall.

(A) Lest. (B) Unless.

(C) Till. (D) Yet.
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They played well
(A) Did they ? (B)
(C) Didn’t they ? (D)
Things are expensive people buy then.

(A) But. (B)

(C) So that. (D)
You ———— hurry there is plenty of time.

(A) Willnot. (B)

(C) May not. (D)
A set of poems called

(A) Anthology. (B)

(C) Collection. (D)
It ———— (rain) heavily when we woke up.

(A) Has been raining. (B)

(C) Rained. (D)
Antonym of ‘Probable’.

(A) In Probable. (B)

(C) Improbable. (D)
Ram and Ravi love

(A) One another. (B)

(C) Each other. (D)
Three fourth of the land ———— barren.

(A) Are. (B)

(C) Have been. (D)

C 2781

Won'’t they ?

Will they.

Because.

If.

Need not.

Could not.

Analogy.
Anthony.

Was raining.

Had rained.

Unprobable.

Disprobable.

One other.

Each another.

Were.

Is.

Turn over



23.

24.

25.

26.

27.

28.

29.

4 C 2781

Synonym of ‘Consolidate’.

(A) Unite. (B) Elaborate
(C) Conspire. (D) Refine.
There was hardly ———— in the box.
(A) Nothing. (B) Something.
(C) Everything. (D) Anything.
‘He ——— a college next week (we correct tense) :
(A) Will be joining. (B) Has been joining.
(C) Has joined. (D) Joins.

Section II (Basic Maths)

On selling a certain goods at Rs. 1,600, 20 % is loss so to earn a gain of 30 % at what price the

product to be sold ?
(A) Rs. 2800. (B) Rs. 2,520.

(C) Rs. 2,480. (D) Rs. 2,600.

The average of 100 numers is 70, but instead of adding 35, 85 is added mistakenly. If the correct

number was added, which is the average.
(A) 68.50. (B) 69.50.
(C) 70.50. (D) 71.50.

The rank of Rinku and Sonu from top is 8t and 12t position respectively. A total of 42 students in

the class, what is the rank of Rinku and Sonu from bottom.
(A) 34, 30. (B) 35, 30.
(C) 84,31 (D) 35, 31.

In an examination 60 % of the students passed. The number of students who failed was 400. Find

the total number of students.
(A) 4,000. (B) 1,000.

(C) 1,500. (D) 3,400.
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The average age of 4 brothers is 7 years. If the age of father is included, the average age is

increased by 6 years. The age of father is :
(A) 30. (B) 32.
(C) 35. (D) 37.

Half of a number is 3 less than 25 what is the rank.

(A) 22. (B) 28.
(C) 56. (D) 44.
Fill the series :
36,18,6,3, 1 ———?
(A) 0.5. (B) 0.25.
(C) 0.75. (D) 0.30.

‘A train travels at a distance of 600 km at a Constant Speed. If the speed of the train is increased
by 5 km/hr, the journey would take 4 hours less. Find the speed of the train.

(A) 100 km./hr. (B) 50 km./hr.

(C) 25 km./hr. (D) 30 km./hr.

A train having 300 meter length has taken to pass an electric post by taking 6 seconds of time.
What is the speed of the train.

(A) 180 km./hr. (B) 120 km./hr.
(C) 100 km./hr. (D) 50 km./hr.

Manu started from A and walked 15c¢ms. towards west then turn left and walked 12 meters and
again turn left and walked 15 meter and again turn right and walked 3 meter. What is the

distance of Manu now from ‘A’ ?

(A) 15 meter south. (B) 12 meter south.

(C) 12 meter north. (D) 18 meter south.
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. A bag contains Re. 1, 50 paise, 25 paise coins in te ratio of 5 : 8 : 4. If the contains Rs. 300 how

many 50 paise coins ?

(A) 240. (B) 250.
(C) 230. (D) 350.
heli-

(A) 11% ®) Hg-
© e (D) %.

. A book is sold at Rs. 2,240 and gained 12 % profit what is the cost price of the book :

(A) 2,100. (B) 2,200.

(C) 2,040. (D) 2,000.
A train of length 155 meter moves with a speed of 45 km./hr. and crosses a platform in 30 second.
The length of the plat form is ——

(A) 220 meter. (B) 375 meter.

(C) 670 meter. (D) 420 meter.
In an election there were 2 candidates only. The candidate who got 62 % of the total votes polled
was elected by a majority of 144 votes. The total votes polled was :

(A) 350 (B) 600.

(C) 700. (D) 1050.
Two persons A and B can complete a work in 35 days. While A alone can complete the same work
in 60 days. B alone will be able to complete the same work in how many days :

(A) 42 days. (B) 72 days.

(C) 84 days. (D) 96 days.

15 men dig a well in 24 days. In how many days will 18 men dig the well ?

(A) 15 days. (B) 18 days.
(C) 20 days. (D) 24 days.
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Tiling work of a hall with 27 meters length and 24 meters breadth is to be done. If each square tile
with its side 0.50 meter cost Rs. 8. Find the total cost of the tiles.

(A) Rs. 20,376. (B) Rs. 20,736.
(C) Rs. 10,368. (D) Rs. 19,736.

The monthly salary of A, B and C is in the proportion of 2: 3 : 5. If C’s monthly salary is Rs. 1,200

more then A’s monthly salary ; B’s annual salary is
(A) Rs. 14,400. (B) Rs. 24,000.
(C) Rs. 12,000. (D) Rs. 20,000.

The sum of the ages of a father & Grand son is 50 year. Also 5 years ago, the father’s age was 7

times the age of the Son. The present age of the father and son as :
(A) 35 years, 15 years. (B) 40 years, 10 years.
(C) 38 years, 12 years. (D) 42 years 8 years.

Ram has twice as much money as Sohan and Sohan has 50 % more money than Krishnan has. If

the average money with them is Rs. 110/- then Ram has
(A) Rs. 55. (B) Rs. 60.
(C) Rs. 90. (D) Rs. 180.

A student has to secure 40 % of mark to pass. He gets 178 marks and fails by 22 marks. The

maximum marks are :
(A) 200. (B) 500.
(C) 800. (D) 1,000.

The population of a village increases by 5 % every year. If the population of this year is 4,200,

then the population of last year was
(A) 4,000. (B) 3,990.

(C) 4410. (D) 4,500.
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Out of 4 numbers. the average of the first three is 16 and that of the last three is 15. If the last
number is 18, the first number is :
(A) 20. (B) 21.
(C) 23. (D) 25.

The price of 2 tables is equal to that of 5 chairs. If the difference between the price of a table and

chair is Rs. 1,200, what is the price of a chair ?
(A) Rs. 600. (B) Rs. 800.

(C) Rs. 1,000. (D) Rs. 1,200.

Section C (General Awareness)

. An internet webpage is located by using :

(A) Universal Resource Locator. (B) Uniform Resource Locator.

(C) Universal Resource Link. (D) Uniform Resource Link.
What is the Scientific name of ‘Chalk’ ?

(A) Calcium oxide. (B) Calcium Oxilate.

(C) Calcium carbonate. (D) Calcium Sulphate.

. Which organ of the human body store the excess quantity of Vitamin A.

(A) Heart. (B) Kidney.

(C) Liver. (D) Large Intestine.
Kuruva island is located in which river ?

(A) Pamba. (B) Pambar

(C) Bhavani. (D) D. Kabani.
World Trade Organisation was established in the year

(A) 1994. (B) 1992.

(C) 1996. (D) 1995.
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Which one of the following is not a component of Glucose.
(A) Oxygen. (B) Nitrogen.
(C) Carbon. (D) Hydrogen.
Which organ of our body produces highest level of heat in the body.
(A) Brain. (B) Skin.
(C) Liver. (D) Eyes.
Which vitamin is needed for Good Vision.
(A) VitaminA. (B) Vitamin E.
(C) Vitamin K. (D) Vitamin C.
The Vice President is the ex-officio chairman of the
(A) Rajya Sabha. (B) Lok Sabha.
(C) National Dest Council. (D) Planning Commission.
Panchayat Raj was started in the country in :
(A) 1957. (B) 1952.
(C) 1959. (D) 1951.
Who administers the oath of office to the president of India ?
(A) Chief Justice of India. (B) Speaker of Lok Sabha.
(C) Prime Minister. (D) Vice-President.
The first 5 year plan was launched in India in
(A) 1947. (B) 1950.
(C) 1951. (D) 1948.
The chief accused in the Hawala case is
(A) S.K. Jain. (B) Mittal.

(C) J.J. Shaw. (D) R.M. Irani.
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Copper mines in India are located in
(A) Mayurghanj. (B) Khetri.

(C) Kolar. (D) Dhanbad.

The Indian state through which the Tropic of Cancer Passes is :
(A) Orissa. (B) Uttar Pradesh.
(C) Gujarat. (D) Hariyana.

Which layer of the earth’s atmosphere reflects back the radio waves to the Earth’s Surface ?
(A) Ionosphere. (B) Stratosphere.
(C) Mesosphere.. (D) Exosphere.

The Oceanography Research Institute is located in :

(A) Bombay. (B) Panaji.
(C) Calcutta. (D) Madras.

The mascot of Tokyo Olympics.

(A) Miraitowa. (B) Vinicius.
(C) Miga. (D) Pandi.

Who was the first Indian to win two individual olympic medals ?
(A) P.V. Sindhu. (B) Abhinav Bindra.
(C) Sushil kumar. (D) Karnam Malleswari.

Which country awards the Nobel Prize ?

(A) Switzerland. (B) Sweden.
(C) India. (D) USA.

The instrument used to measure the depth of sea.

(A) Fathometer. (B) Periscope.

(C) Odometer. (D) Ammeter.
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72. The headquarters of Southern Naval Command is located at :
(A) Cochin. (B) Visakhapatnam.
(C) Madras. (D) Tuticorin.

73. The National Literary Mission was launched in :
(A) 1985. (B) 1986.
(C) 1987. (D) 1988.

74. Who was appointed as the new Managing Director of LIC ?
(A) Govind Singh. (B) Mini Ipe.

(C) Sathosh Yadav. (D) Susan M. Kosh.

75. Which country suggested the name for cyclone ‘Ockhi’ ?
(A) Bangladesh. (B) Pakistan.
(C) China. (D) USA.
Section IV (Business Studies)
76. An audit made compulsory of law is called
(A) Team audit. (B) Management audit.

(C) Statutory Audit. (D) Internal Audit.

77. Purchase Day book is meant for recording all purchase of goods.
(A) Cash purchase. (B) Credit purchase.
(C) Total purchase. (D) Petty purchase.

78. Price Earnings Ratio =

A Market price (B) EPS

) EPS ' Market Price
Market Price EPS

© Cost Price (D) Cost Price’
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Patent / copy right is asset.
(A) Current. (B) Fixed.
(C) Intangible. (D) Investment.
As per ———— concept the owners be considered to be different from business.
(A) Entity concept. (B) Going Concern Concept.
(C) Money measurement concept. (D) Accounting period.
Out standing salary Account is
(A) Natural personal Account. (B) Artificial Personal Account.
(C) Representative Personal Account. (D) Real Account.
Interest earned is Account.
(A) Personal. (B) Real.
(C) Nominal. (D) Liability.
Life Insurance is a contract of
(A) Guarantee. (B) Indemnity.
(C) Promise. (D) None of the above.
is issued only against customer’s Account balance.
(A) Debit card. (B) Credit card.
(C) Master card. (D) E.Card.

. The first woman authority in management is

(A) Mary parker. (B)

(C) White Head. (D)
‘The practice of management’ is written by :
(A) Peter F. Drucker. (B)

(C) Henry Fayol. (D)

Lillian Gilberth.

Elton mayo.

TerryLouis Allen.

Elton Mayo.
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The idea of functional foremanship is proposed by :
(A) Mary Paker Follett. (B) F.W. Taylor.
(C) Henry Fayol. (D) Gilberth.
Order of command that runs from top to bottom is :
(A) Scalar Chain. (B) Unity of Command.
(C) Unity of Direction. (D) Espirit-De-Corps.
The test used to determine the speed of fingers and hands ?
(A) Interesttest. (B) Achievement test.
(C) Dexterity test. (D) Trade test.
Pricing strategy where the marketer charge maximum price on a new product is :
(A) Penetration pricing. (B) Skimmed Pricing.
(C) Full cost pricing. (D) Inflated Pricing.
The practice of measuring the quality of something by comparing with another of an accepted
standard
(A) Kaizen. (B) TQM.
(C) Benchmarking. (D) Business process Re-engineering.
Personal attributes required to perform a job :
(A) Job Evaluation. (B) Job Design.
(C) Job Description. (D) Job specification.
The first phase of bank nationalisation was in
(A) 1969. (B) 1959.
(C) 1968. (D) 1978.
Money market deals in :
(A) Money. (B) Short term funds.
(C) Credit. (D) Bonds.
SEBI was set up in the year.

(A) 1988. (B) 1991.
(C) 1995. (D) 1985.
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Asset. (B) Liability.
Income. (D) Expense.

Motivation theory x and theory y is developed by :

(A)
(9]

(A)
©)

Elton mayo. (B) Abraham Maslow.
Douglous M.C. Greagor. (D) Philip Kotler.
is an example of opportunity cost.
Interest on capital (B) Salary.
Interest on loan. (D) Wages.

The ratio at which central bank lends money to commercial bank.

(A)
©

Reverse Repo. (B) Rep Rate.
Credit Rate. (D) Money Rate.

The Headquarters of Reserve Bank of India is located at :

(A)
©)

Mumbai. (B) Delhi.
Kolkata. (D) Bhuvaneshwar.
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(100 x 1 = 100 marks)



